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SEADH SEADH SEADH NEAEED
HHETZAL 293 0 333 0 626 0 303 0
= HETEEE 62 0 67 1 129 1 60 1
HHETHEE 243 0 229 1 472 1 231
= HETILER 51 0 61 0 112 0 39
HHEEH 1,897 155 2,055 205 3,952 360 2,086 14
= HETETR 147 2 150 1 297 3 150 1
HHEER 566 29 594 24 1,160 53 582 4
HHETEESF 57 0 54 2 111 2 45 1
= HETILF 398 68 351 2 749 70 369 0
HHET)IIAR 221 4 227 17 448 21 211 1
SHHETHE 920 2 99 1 189 3 82 0
= HETER 78 1 82 0 160 1 73 1
= HETT R 302 11 240 4 542 15 414 1
= HET/MLU 57 0 64 0 121 0 59 0
HHRETEAT 190 3 223 8 413 11 191 3
HHETTAL 79 0 88 0 167 0 82 0
HHETRE 81 4 70 2 151 77 1
= AETH 102 0 125 0 227 109 0
= HESE 39 0 31 0 70 0 32 0
J\FAET LB 79 4 87 7 166 11 92 0
I\ TFRETHH 206 4 233 4 439 8 227 3
I\FHRETE < 3+ 410 25 383 27 793 52 430 2
INTFRETTR 464 11 493 36 957 47 443 6
I\FHRET LR 436 9 507 15 943 24 427 1
J\FAET @ L 48 5 44 0 92 5 49 0
Xt BHETHEH 377 8 465 55 842 63 401 1
X1 BETAH 330 2 353 8 683 10 289 3
X1 EHETIE 242 0 254 0 496 217 0
X1 EET4H 137 0 148 0 285 145 0
X+ EBEETZH 53 0 60 0 113 0 56 0
== BT R 175 6 191 2 366 8 217 3
== BTk <& 352 34 345 13 697 47 372 0
== BTRER 129 2 133 3 262 5 130 2
= EHEER 69 1 78 0 147 1 78 0
== TR 366 21 363 0 729 21 370 0
EEEERZAR 160 2 170 4 330 6 164 0
= = B4R 169 1 171 1 340 2 176 2
B BT L/NR 302 12 342 11 644 23 328 1
FHEETT/NNR 406 9 443 4 849 13 415 4
FHESHE 720 17 773 11 1,493 28 684 2




A R ET#R th 61 1 73 1 134 67 0
B FHET R 1R 67 0 69 136 0 69 0
FA BT L BT 351 9 334 10 685 19 312 4
FAHETT B 222 5 224 446 222 2
B TR 74 0 920 0 164 0 88 0
& EATIR 642 2 808 53 1,450 55 731 5
[RETF S 491 40 533 14 1,024 54 511 4
[ RET R B 257 3 285 542 7 285 2
mRETHE & 85 1 96 0 181 1 86 1
A RET{RIE 100 2 125 3 225 5 117 1

& &t 12,933 515 13,816 557 26,749 1,072 13,393 77




